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Answer the Questions from any one Option.

OPTION -A
For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016
(Plant Physiology and Metabolism )

OPTION -B
For Honours Generic
Paper : BOT-HG-3026

( Environmental Biotechnology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.
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OPTION -A
(Plant Physiology and Metabolism
Paper : BOT-HG-3016/RC-3016

Answer the following as directed :

o Sl ©ed a3 2

1.  Choose the correct answer of the following :
(any seven) 1x7=7
TS TRy wa Seace! Afe Sfeeal ¢ (e
)

()  Which of the following forms of water is
absorbed by plants ?

(@) Run away water
(b) Hygroscopic water
(c) Capillary water
(d) All o.f the above
O (PG o Sfgw e TR oira o
(@) ARE @RI AT
(b) Gl YR AT
(c) (TP of)

(d) S*_q FIEAIRR

(1) What is root pressure ?

T4 {5
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(1) Transpiration is a necessary

(Fill in’ the blank)
AT (AR 9O AareTy

(iv) What is meant by ‘antitranspirant’ ?

(v) Who proposed Active K* transport

stomata ?
(a) Steward

(b) Sayre

(c) Loyd

(d) Fujino

I TCABA R RS 905 @i g
ORI S+ o5 woRwERe

(@) TBars

(b) BIRF

(c) =G
(@) Ffew

(vi) Name one instrument to measure the
rate of transpiration in plants.
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(i) Dij
eb :
cliciency of S caused que ¢
0

(@) zinc
(b)  copper
(c) boron
(d) iron

VRIS (19t feg TR 7317
(a) fe
(b) R
(c) =9

(d) (TR

(viii) Mass flow theory of organic solute
translocation was proposed by

(a) Fenson

(b) Spanner

(c) Munch
(d) None of the above
e T SR TR T !

(a) ([« "5‘1



(b) =W
(c) =4
(d) S2[] 9hI6 75y

(ix) Vernalization was discovered by
(@) Garner and Allard
(b) Lysenko
() Kurosawa
(d) Miller
FIR WIRER Tl
(@) MR = 97
(b) FIHE
(c) TR
(d) e
(x) What are thyllakoids ?
AZFRRCAR 52
(xi) Assimitatory powers produced during
photosynthesis are

(a) ATP and NADPH,
(b) H,O and O,
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(c) RuDP and RuMP
(d) Ce¢Hi,0¢ and PGAL

AR efrars Teom @al wiaase
& tzrz

(a) ATP Wlis- NADPH,

(b)  H;O W= O,

(c) RuDP &% RuMP

(d) CeH 20 SR PGAL
(xii) Respiratory quotient (RQ) is represented

by

(@ C/N

(b) N/ O

(c) 0O2/CO,

(d) COx/0s

%39 SIS (RQ) T

(@ C/N

(b) Na/ Oy

(c) 0Ox/CO;

(d) CO/ O
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2.  Write short notes on the following : (any
Sour)

2x4=8
(a) Osmosis

(b) Guttation

(c) Chloroplast

(d) Krantz anatomy

(e) Types of transpiration

() Abscissic acid

(39) Photosynthetic pigments

(h) Day neutral plants

oS R 5y Gl Bt 2 (R sy
(a) =i |

(b) Rz

(c) TR A Rz

(d) TG F= AZ=

(e) AT AFI]

(N RiERs e

(9) FETRETS IGT 0

(h) = Rrers Sfgw
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4 Answer any three of the following
questions : 10x3=30

e [zt fofAnr o5 Tea % 2

(a) What are different sources of nitrogen
for higher plants ? Describe the
biological nitrogen fixation. 2+8=10

Twasfa Tfewa A ARGreae Rifen vz @
fa e tofds Aizhrem fafeaser faara 3w =

(b) What is translocation of organic solute ?
Describe the mechanism of
translocation of organic solute in plants
with the help of pressure flow model.

o wq) AT &2 Blo 2[R TR AT
e (or wa AfazeR AfEnst 3 40

(c) Describe different types of factors
affecting the photosynthesis.
HCEARPACETNF dold (AT fifon oI
Flaeorgz 3 41|

(d) What is photosynthesis ? Give a
detailed account of cyclic and non-cyclic

electron transport in photosynthesis.
2+4+4=10
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SRR 57 AR bE oy,
bR Bl wAffRE TR faa

(e) Describe the chemical process of EMp
pathway. Write about net product of

EMP pathway. 8+2=10
EMP 3 qeiiafes 2o 3l 341 9% EMP
gefietia 9 Testmed fara fern

(f) Give a detailed account of the Krebs
cycle. Mention its significance.

(¥ HEF(oR Ry fazel il | 2319 wieof Trer
il |

(g9 What is photoperiodism ? Discuss how
the plants are classified on the basis of

photoperiodism. 2+8=10
nieee efsfea e Rfesrm ofs myea
TRIRT goige 7 3k Tfemmzs e
(TP PN (ZR WA 3 |

(h) What is plant growth regulator ?
Discuss the physiological role of
Gibberellins in plants.

Tfew 3fa s [ 2 Tfgwe foifafema M9l
Sl SITALA 341 |
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OPTION - B
(Environmcnta! Blotechnology)

pPaper : BOT-HG-3026

answer the following as directed : (any

1.
seven) 1 x7=7
farial i s daena e faa o (e
A1)

(a) Which one of the following is nol a
natural pollutant ?

(i) SO;
(i) CO
(i) CO,

(iv) Pesticides
(i) SO,
() CO
(i) CO,
(iv) oM
(b) What is the full form of DDT ?
DDT a =9 aira fa 2

(c) In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?
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—

UNESCO % (PR @ SR I (T ey
il 2 SR ?

(d) Minamata disease caused due to

pollution. (Fill in the blank)
faer=t canst Eeq A 2 |
(3T 212 %99 1)
(e) Write two names of bacterial
biofertilizers.
052 A1 IR YL =1 7Ry [@EfaE am
et |

(/) Which one of the following is a
xenobiotic compound ?

(i) Polychlorinated biphenyls
(i) Peroxyacetyl nitrate
(i) Chlorofluorocarbon

(iv) Ultraviolet ray

e @ml (ERRihE el =
() AEPRewe Rk

(i) CafHafoza 255

(i) FE DI

fiv) wferae Ry
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(g) Lignosulfonates qre releq
industry.

s T n

sed fl'mn

(Fill in the blank)
TOMSIa sy fisfo f
(Vi) 32 49 341

(h) What is ozone ?
'Y fae

()  Which one of the fol

lowing is a unit of
radioactivity ?

() ppm
(i) curie
(iii) decibel
(iv) nanometer
fesre @R cosfEel aw e
(i) feferam
(i) T
(i) (oA
(iv) ToR
() Where is Chilika lake situated ?
(W J3e e 37 wriFe?
(k) Write the full form of WTO.
WTO 3 = a5 feian |

td.
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() Which one of the followine :
e o owing 1s a Ramsar

(1) Kaziranga National Park
() Majulee River [sland
(i) Deepor Beel

(iv) Brahmaputra River
LHIE (PRS2 a3 2W o cafve:
(i) ifE=e G o
(ii) T Taralsf
(i) "I [
(iv) @
2.  Write short answers : (any four) 2x4=8
wfe 50e bes frdl ¢ (Rt sifaon)

(a) Advantages and diéadvantages of
aerobic ponds.

e YT TABRIO! SR oISl 77 |

(b) What is radionuclides ? Give one
example.

@foaieie fae TR <O Targsd o |
(c) What do you mean by bioconcentration ?

teaeiad e f& et e
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(d) Write a note on biomining

(SR T @S By oy

(e) Write a very short note on Brundtland
Report.

gﬂtﬂwﬁﬁmmmwﬁmaﬁm

(f) Principles of Forest Conservation Act,
1972.

SR I W (359%) I T @ |

(g) Silent Valley Movement.
TR TR A |

(h) Xylanases
G Q6]

3. Write notes on any three of the following :
5x3=15

e R oAb evwe G ol ¢

(a) Global environmental problems
faml oAfara™ FIRY FETPTR

(b) Upflow anaerobic sludge blanket
reactors

e peiies CROUAS RS EES
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(c) Role of nitrogenous compoypngy
pollution Ur

AEBEgE ML AY AT S
(d) Trickling filter

ek o
(e) Corporate social responsibility

(f) Salient features of Kyoto Protoco], 1997
PO 2P (So5q) T Y PRy

(g) Constitution of Central and State
Pollution Control Boards

U e AT e g s
oleffeT

(h) Treatment scheme of waste water of
tannery industry

cBﬁaWﬂw%ﬁawﬁmmaﬁﬁm

4. Answer any three of the following :

ﬁwm@'ﬁﬁrm%@m:

(@) What is greenhouse effect ? Describe
the possible énvironmental effects of
global warming. Write briefly how
greenhoyse effect can pe minimized.

2+5+3=10
-3/CBCS| BOTHG/RC/G 16
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SCE R R EUUT R STV S— ara
W%ﬁsmaﬁam%wwﬁ

(O 2 ~Hfa1 e + wifim R v
39 3t |

(b) What are pollutants ? Describe the fate
of different pollutants in the

environment. 2+8=10
AT 152 Afcre fifon enmronze fafs &
39qr 7= |

(c) Describe the Montreal Protocol (1987).
How does it differ from recommendations
of Rio-Earth Sumit-UNCED (1992).

7+3=10
ﬂfﬁaﬁﬁ’ﬂfﬁ(bbb‘ﬂ)ﬁﬁaﬁilﬁ'\‘ﬂ’ﬁnﬁfﬁﬁ@—
UNCED (555%) 3 *[Riv{deil t3ice 331"
(FARTS i<l iy B

(d) What do you mean by sustainable
development ? Describe the impact of
sustainable development on gross
national productivity and quality of life.

2+8=10

v fam) e 6 g 2 sz R s
(P T @ TRWE TSI S99
@A 2eIfe F(aa A Fo &
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e)

(9)

Wwhat are xenobiotic compounds 3 Hoy,
does xenobiotic cornpolund affect ¢,
living organisms ? GIve suggegy
measures to mitigate this Proble,

through bioremediation. 24 3+5=10

mmﬁamﬂmﬁs?wmﬁaswar@m
G €RE (PG AAPR IR spyrg

RIS 7191 93 7] (T 77 3fRq
oAIfq I 1|

Write a descriptive note on Water
Pollution (Prevention and Control) Act,
1981.

G A (St s formger) IEC RN SN
THE O RFe Gt faray |

Describe briefly the role and
Participation of




' a
Environmentg| Policy 2%%6 Nationa]
alﬁln ﬂﬁﬂ'l %, R00Y 7 “‘me,
4000

e Talsl
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